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Section - I (English)

Q.No: 1 Choose the correct option that completes the sentence logically and grammatically:
She is neither interested _____ involved.

nor

and

but

or

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on
what is said in the paragraph:

The Impact of Climate Change on Oceans

Climate change poses a severe threat to the health of the world's oceans. Rising temperatures, caused by greenhouse gas
emissions, lead to the bleaching of coral reefs and the disruption of marine ecosystems. Additionally, the melting of polar ice
caps contributes to rising sea levels, impacting coastal communities. Urgent global action is needed to reduce carbon
emissions and mitigate the adverse effects of climate change on oceans and marine life.

What is the focus of the paragraph?

Greenhouse gas emissions

Climate change impact on oceans

Coral reefs

Rising sea levels

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on
what is said in the paragraph:

The Impact of Climate Change on Oceans

Climate change poses a severe threat to the health of the world's oceans. Rising temperatures, caused by greenhouse gas
emissions, lead to the bleaching of coral reefs and the disruption of marine ecosystems. Additionally, the melting of polar ice
caps contributes to rising sea levels, impacting coastal communities. Urgent global action is needed to reduce carbon
emissions and mitigate the adverse effects of climate change on oceans and marine life.

What causes rising temperatures in oceans, according to the paragraph?

Coral reefs

Marine ecosystems

Greenhouse gas emissions

Polar ice caps

Not Answered

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on
what is said in the paragraph:

The Impact of Climate Change on Oceans

Climate change poses a severe threat to the health of the world's oceans. Rising temperatures, caused by greenhouse gas
emissions, lead to the bleaching of coral reefs and the disruption of marine ecosystems. Additionally, the melting of polar ice
caps contributes to rising sea levels, impacting coastal communities. Urgent global action is needed to reduce carbon
emissions and mitigate the adverse effects of climate change on oceans and marine life.

Why is urgent global action needed, according to the paragraph?

To disrupt marine ecosystems

To promote rising sea levels

To reduce carbon emissions

To encourage coral reef bleaching

Not Answered

Q.No: 5 Choose the correct part of speech for the underlined word in each sentence.
The river flowed gently through the picturesque valley.

Adverb

Adjective

Verb

Noun

Q.No: 6 Choose the correct question tag from the four options given, that completes the sentence logically and grammatically:
It's raining heavily, _____?

won't it

isn't it

can't it

hasn't it

Q.No: 7 What is the singular form of "thieves"?

thieven

thievs

theefs

thief

Q.No: 8 Which punctuation mark should be used after the introductory phrase, "To begin with____"?

Colon (:)

Period (.)

Dash (-)

Comma (,)

Q.No: 9 Choose one word substitution for the following:
"Group of Cows"

Mob

Herd

Pride

Troop

Q.No: 10 What is the correct past tense form of the verb "Book"?

Booked

Booking

Book

Will book

Q.No: 11 Choose the option that best represents the antonym of the underlined word in the sentence.
The politician's audacious plan sparked both praise and criticism.

optimistic

naive

timid

cowardly

Not Answered

Q.No: 12 What does the idiom "out of the frying pan into the fire" mean?

Moving from a bad situation to a worse one

Cooking in the kitchen

Extinguishing a fire

Jumping over a fire

Not Answered

Q.No: 13 In the following question, a sentence has been given in Active voice. Out of the four alternatives suggested, select the one
which best expresses the same sentence in Passive voice.

This is the second time I have caught you cheating.

Catching you cheating for the second time has been done by me.

You were cheating for a second time and I have caught you.

You have been caught cheating by me for the second time.

This is the second time you have cheated and were caught by myself.

Not Answered

Q.No: 14 Choose the correct article in English grammar, that completes the sentence:
He is not _______ honourable man.

a

an

the

No Article Required

Q.No: 15 Arrange the following jumbled sentence into a coherent order:

A. Beach

B. Played

C. Building

D. They

E. On

F. The

G. Sandcastles

H. By

C-G-D-B-E-A-H

H-D-C-G-B-E-F-A

D-E-H-F-A-B-C-G

D-B-E-F-A-H-C-G

Q.No: 16 Choose the correct option that completes the sentence logically and grammatically:
The project was _______ challenging that we needed extra time to complete it.

to

such

so

also

Q.No: 17 What is the single word for "A person who makes and repairs wooden objects"?

Carpenter

Welder

Blacksmith

Mason

Not Answered

Q.No: 18 Which sentence is in the past perfect tense?

She will read the novel.

We are reading newspapers.

They had already finished their homework.

He is reading a book.

Q.No: 19 What is the Antonym of the word "steady"?

Unstable

Firm

Stationary

Rooted

Not Answered

Q.No: 20 Fill in the blank with the correctly spelled word:
She received a _______ for her outstanding performance in the play.

complimentt

complement

compliment

complemint

Q.No: 21 Choose the word that means "causing harm or damage":

Beneficial

Favourable

Advantageous

Detrimental

Not Answered

Q.No: 22 Choose the correct part of speech for the underlined word in each sentence.
Hop on my back and I will take you across.

Pronoun

Interjection

Preposition

Conjunction

Q.No: 23 Choose the correct part of speech for the underlined word in each sentence.
The happy children played in the park.

Noun

Verb

Adjective

Adverb

Q.No: 24 Fill in the blank with the most appropriate preposition:
The sandwich is ______ two slices of bread.

front

beyond

between

across

Not Answered

Q.No: 25 What does the term "quench" mean?

Remove

Frustrate

Satisfy

Spark

Not Answered

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Q.No: 29

Q.No: 30

Q.No: 31

Q.No: 32

Q.No: 33

Q.No: 34

Q.No: 35

Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

Not Answered

Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Q.No: 47

Q.No: 48

Q.No: 49

Q.No: 50

Section - III (Arithmetic)

Q.No: 51 If a car travels at a speed of 90
kilometers per hour, how far will it
travel in 2.5 hours?

135 km 135 km

200 km 200 km

180km 180 km

225 km 225 km

Q.No: 52 Simplify:

1 1

0.3 0.3

3.5 3.5

1.6 1.6

Q.No: 53 Simplify:

Q.No: 54 A farmer sold fruits he had grown
at a profit of 35%. The cost price
was Rs.6000.
How much is the total amount he
got?

Q.No: 55 In a class, there are 9 students
who have taken French as their
major subject and 45 who have
taken English as their major
subject. What is English to
French ratio in the class?

5:1 5:1

9:5 9:5

3:10 3:10

1:5 1:5

Q.No: 56 The speed of light in a vaccum is
approximately 300,000,000 meters per
second. How long will it take for light to
travel a distance of 150,000,000
kilometers?

Q.No: 57 What percent of 45 is 36?

Q.No: 58 4 men and 6 women can complete a
work in 8 days, while 3 men and 7
women can complete it in 10 days. In
how many days will 10 women
complete it?

30 days

38 days

40 days

18 days

Q.No: 59 An employee got a 12% increase
in the salary. If the salary was
Rs.30,000,then how much is the
revised salary?

Q.No: 60 What is the LCM of 7, 12 and 14?

28 28

56 56

14 14

84 84

Q.No: 61 Raven is 10 years older than
Cynthia. If the sum of their
ages is 40,what is Cynthia's
age?

25 years

20 years

15 years
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15 years

10 years

Q.No: 62 A real
estate agent
sells two
sites for
Rs.20,000
each. On
one he
gains 20%
and on the
other he
loses 5%.
What is his
loss or gain
percent(%)?

8% Loss

7.5% Profit

8.5% Loss

9% Profit

Q.No: 63 What is the Highest Common Factor (HCF) of 22 and 44?

44 44

2 2

22 22

1 1

Q.No: 64 Suma's age is 3 times the age of Ramya. The
total of their ages is 64 years. Find the ages of
Suma and Ramya.

15 and 40

38 and 26

48 and 16

18 and 46

Q.No: 65 If 20 workers can build a bridge in
30 days, how many days will it
take for 25 workers to build the
same bridge?

24 days

20 days

30 days

25 days

Q.No: 66
If the cost price of an article is Rs.35 and
the selling price is Rs.55, what is the profit
percentage?(Approximate)

57.14% 57.14%

55.14% 55.14%

56.00% 56.00%

58.00% 58.00%

Q.No: 67 If you roll a fair six-sided dice,
what is the probability of rolling a
number less than 5?

0 0

2/3 2/3

1 1

5/6 5/6

Q.No: 68 If you randomly select a letter from
the word "KARNATAKA", what is the
probability that it is 'A'?

1/9 1/9

3/4 3/4

1/2 1/2

4/9 4/9

Q.No: 69 Simplify:

Q.No: 70 A certain sum becomes thrice on
simple interest in 5 years. What is rate
percent per annum?

30% 30%

20% 20%

10% 10%

40% 40%

Q.No: 71 The average of five numbers is
55. If the first number is 75,
what is the average of the
remaining numbers?

55 55

65 65

50 50

60 60

Q.No: 72 The ratio of 2.5 m to 10 cm is ______.

Q.No: 73 The average of eight numbers is 75. If two numbers are
56 and 82, what is the average of the remaining six
numbers?

77 77

78 78

82 82

75 75

Q.No: 74 Rani invests Rs.2500 in a fixed
deposit for 5 years at 8%
annual simple interest. What is
the total amount she will
receive after 5 years?

Rs.3500 Rs.3500

Rs.4000 Rs.4000

Rs.4500 Rs.4500

Rs.3000 Rs.3000

Q.No: 75 Simplify:

Section - IV (General Knowledge)

Q.No: 76 Where is Indian Institute of Petroleum located?

Chennai

Dehradun

Haryana

Delhi

Q.No: 77
Laureus awards or prizes are presented in which field of
human endeavour?

Literature

Film making

Music

Sports

Q.No: 78 Who discovered the electron?

Chadwick

Thomson

Rutherford

Dalton

Not Answered

Q.No: 79 Who was the first speaker of Lok Sabha?

Gurdial Singh Dhillon Tarn Taran

Ganesh Vasudev Mavalankar

M. A. Ayyangar Chittoor

Jawahar Lal Nehru

Not Answered

Q.No: 80 Who was the first Governor of Odisha?

VP Menon

Bhimsen Sachar

Sir John Austen Hubback

M Asaf Ali

Q.No: 81 Which of the following is NOT a type of Balance of
Payments?

Surplus

Balanced

Equity

Deficit

Q.No: 82 Which institution releases the Primary
(Urban) Co-operative Banks' Outlook
2021-22?

NABARD NABARD

NITI ayog NITI ayog

NPCI NPCI

RBI RBI

Q.No: 83
The Pulitzer Prize is awarded by __________.

The Stanford University

The Columbia University

The Oxford University

The Harvard University

Q.No: 84 Which day is celebrated as National Small Industry Day in
India?

August 30

August 16

November 15

July 22

Q.No: 85
In which among the following books has Darwin
mentioned the evolution of Humans?

The origin of species

The Neanderthal man

The origin of man

The origin of sapiens

Not Answered

Q.No: 86 Who among the following is best known for
playing Harry Potter in the Harry Potter film
series during his adolescence and early
adulthood?

Mathew Lewis

Alan Rickman

Daniel Jacob Radcliffe

Tom Felton

Not Answered

Q.No: 87 Fill in the blanks:

The Food and Agriculture Organization (FAO) is
headquartered in ________.

Sweden

Rome

Geneva

USA

Q.No: 88
Which of the following SDG goal is related to the
regulations towards responsible production?

GOAL 9

GOAL 8

GOAL 12

GOAL 11

Not Answered

Q.No: 89 What does a Sphygmomanometer measure?

Electrical activity of the heart

Blood Pressure

Respiratory rate

Air waves (Velocity)

Not Answered

Q.No: 90 Terrace farming is done:

on the slope of hills

on plane regions

on mountain tops

in dry regions

Q.No: 91 Which article of the Indian Constitution related to Vice-
President of India?

Q.No: 92 Which of the following lakes of India is located in Jammu
and Kashmir?

Lake Chilika

Fateh Sagar Lake

Nakki Lake

Wular Lake

Q.No: 93
Where did the Great Indian Mutiny (the First War of
Independence) first start?

Meerut

Madras

Agra

Calcutta

Q.No: 94 Tedros Adhanom Ghebreyesus, the
Director General of WHO as of January
2023, hails from which country?

Uganda

Ethiopia

Ivory Coast

Kenya

Q.No: 95
Who invaded Scotland in 80 AD led by Agricola?

The French

The Italians

The Indians

The Romans

Q.No: 96
Which US president allocated $114 million for teaching
Hindi?

Barack Obama

Joe Biden

Donald Trump

George Bush

Q.No: 97 What is the full form of SMS in the context of mobile
phone usage?

Shortened Message Service

Shorthand Messaging Services

Short Message Service

Simple Messaging Service

Q.No: 98 What is the full form of GNP?

Gross National Product

Gross Neutral Product

Gross Natural Product

Gross National Production

Q.No: 99
Modi script was used to write which of the following
languages?

Malayalam

Marathi

Telugu

Gujarati

Q.No: 100
The Indira Gandhi National Open University (IGNOU) was
established by an Act of Parliament in _____.

2000 2000

1995 1995

1980 1980

1985 1985

Section - V (Computer Knowledge)

Q.No: 101 What is the shortcut key to "Close the document"
in MS word?

Ctrl+S Ctrl+S

Ctrl+X Ctrl+X

Ctrl+N Ctrl+N

Ctrl+W Ctrl+W

Q.No: 102
The full form of WORM is ______________.

Write Once Read Many

Write Once Record Many

Write Only Record Many

Write Only Record Memory

Q.No: 103 What is the shortcut key to insert page breaks in MS
word?

Tab + enter

Alt + enter

Shift + enter

Ctrl + enter

Q.No: 104 What is the full form of the file system known as “NTFS”?

New Triad File System

New Transfer File System

New Technology File System

New Technology File Source

Q.No: 105 ___________ refers to continuous surveillance on
the target (or person) done by a group of people
or by the individual person.

Bulling

Theft

Nulling

Stalking

Not Answered

Q.No: 106 Transmission and delivery of information
containing text, image, video, documents etc. to
targeted recipient(s) over the Internet is called
____________.

E-commerce

E-mail

www www

Media

Q.No: 107 In simplex channel, flow of data is:

Both direction simultaneously

Bidirectional

In both direction, but one at a time

Unidirectional

Q.No: 108 Speed of first generation computer was measured in:

Micro seconds

Nano-milli seconds

Nano seconds

Milli seconds

Q.No: 109 The accuracy of the floating point numbers
representable in two 16-bit words of a
computer is approximately :

16 digits

6 digits

9 digits

19 digits

Q.No: 110 Which of the following is not a type of operating system?

Linux

Ubuntu

Windows

Office

Q.No: 111 Which shortcut key is used
to open "Find and Replace"
dialog box in MS word?

Ctrl+G Ctrl+G

Ctrl+C Ctrl+C

Ctrl+I Ctrl+I

Ctrl+H Ctrl+H

Q.No: 112 Which of the following is not an input device?

Touch pad

OCR OCR

Plotter

MICR MICR

Q.No: 113 What is the main folder in Gmail?

Trash

Draft

Inbox

Spam

Q.No: 114 Which computer network
connects groups of
computers over large
distances and often used by
large businesses to connect
their office networks?

MAN

LAN

CAN

WAN

Not Answered

Q.No: 115 What is the default extension for a
PowerPoint presentation in versions 2007 or
later?

.docx

.msppt

.pptx

.xlsx

Q.No: 116 What is the full form of SMTP?

Server Message Transfer Protocol

Simple Mail Transfer Protocol

Small Mail Transfer Protocol

Simple Main Transfer Protocol

Q.No: 117 Documents, movies, images and photographs
etc., are stored at a?

Print server

Copy server

Virtual server

File server

Q.No: 118 Based on the direction of information
exchange, there are _______ types of
data communication.

3

4

2

5

Q.No: 119 Which is the shortcut key to hide selected rows in Excel?

Ctrl+C

Ctrl+H

Ctrl+9

Ctrl+0

Q.No: 120 Which of the following is not a computer threat?

Ransomware

Spyware

Malware

Hardware

Q.No: 121 The full form of 'JPEG' is :

Joint Photographic Experts Group

Joint Photographic Exercise Group

Joint Photography Execution Group

Join Photographic Experts Group

Q.No: 122 How many number of elements in the open IOT
architecture?

Seven elements

Five elements



Five elements

Four elements

Six elements

Not Answered

Q.No: 123 The transmission of a file to our computer from the
internet is called:

Saving

Receiving

Uploading

Downloading

Q.No: 124 Combining two or more adjacent
cells into a one cell in MS Excel is
called ____________.

Editing

Merging

Matching

Splitting

Q.No: 125 An interconnected network exclusively used within
organizations such as banking, business firms that
uses web technologies for sharing data or
information internally is called:

Intranet

Protocol

Hypertext

Internet

Not Answered

Section - VI (General Science)

Q.No: 126
A combination with a high melting
point is created when an element
and oxygen combine. Additionally
soluble in water is this chemical. The
component most likely is

Calcium

Iron

Silicon

Carbon

Q.No: 127 What is the atomic number of sodium ?

Q.No: 128 What is Sublimation ?

A phase of transition from liquid to solid

A phase of transition from solid to gas

A phase of transition from solid to liquid

A phase of transition from liquid to gas

Q.No: 129 What is the term used to describe the
phenomenon where genetic variations
become common in a population due to
survival advantage called?

Genetic mutation

Natural selection

Genetic drift

Accidental survival

Not Answered

Q.No: 130 Chlorophyll is mainly located in which of the following
part of the plant ?

Fruit

Stem

Root

Leaf

Q.No: 131 Hydrogen fuel cells are an example of:

Conventional source of energy

Non-conventional source of energy

Both conventional and non-conventional

Neither conventional nor non-conventional

Q.No: 132 ___________phenomenon is used to avoid the risk
of electric shock

Demagnetization

Insulation

Amplification

Earthing

Q.No: 133 State the pH range of a weak acid solution, such as grape
juice

The pH range of grape juice is 9-12

The pH range of grape juice is 5-10

The pH range of grape juice is 5-7.5

The pH range of grape juice is 2-5

Q.No: 134 What is the phenomenon which causes a straw in a glass
of water to appear bent?

Refraction

Reflection

Diffraction

Scattering

Q.No: 135 Why is iodized salt important for our diet?

It enhances taste

It prevents obesity

It is necessary for thyroxin synthesis

It reduces blood pressure

Q.No: 136 In what way does Rhizopus reproduce?

Vegetative propagation

Spore formation

Fragmentation

Sexual reproduction

Q.No: 137 _________ is an example of an insectivorous plant

Bladderwort

Cuscuta

Animalia

Fungi

Q.No: 138 ______________prevents the sudden increase in
temperature during the day

Rain

Wind

Atmosphere

Clouds

Q.No: 139 In the human body, Kidneys are part of which _______
system.

Excretory

Digestive

Transportation

Respiratory

Q.No: 140 Which non-conventional source of
energy involves the conversion of
sunlight into electricity ?

Geothermal Energy

Solar Energy

Tidal energy

Wind Energy

Q.No: 141 What is a circuit?

A closed path which restricts electricity flow from one
point to another

A closed path which allows electricity to flow from one
point to the other

An open path where electricity flows

A closed path which disperses electricity flow

Q.No: 142 In terrestrial plants, the primary function of the root
system is to:

Provide structural support for the plant body

Store carbohydrates produced during photosynthesis

Synthesize essential organic molecules

absorption of water and nutrients from the soil

Q.No: 143 Which one of the following shows the correct relationship
in terms of reactivity?

Not Answered

Q.No: 144
The term for the motile germ-cell in organisms
with complex body designs is_______.

Special lineage

Male gamete

Female gamete

Zygote

Q.No: 145 Which of the following is the main consequence of ozone
layer depletion?

Ozone layer thickening

Global warming

Acid rain

Increased ultraviolet (UV) radiation

Q.No: 146 Bufo (Toad) is an example of Class:

Amphibia

Mammalia

Aves

Reptilia

Not Answered

Q.No: 147
A solution reacts with crushed egg-
shells to give a gas that turns lime-
water milky.The solution contains

Not Answered

Q.No: 148 What is the function of a fuse in an electrical circuit?

To prevent short circuits

To decrease resistance

To regulate voltage

To increase resistance

Q.No: 149 What type of heart
structure is found in
reptiles and amphibians?

Four - chamber heart

Three - chamber heart

Five - chamber heart

Two - chamber heart

Q.No: 150 What refers to biological magnification?

Ecosystem where the micro and macro organisms live

Increase in the concentration of toxin as we move to the top of
food web

System where consumption of various foods exists

The number of levels in the food web

Not Answered


